ARLINGTON COUNTY, VIRGINIA OFFICE OF THE PURCHASING AGENT 2100 CLARENDON BOULEVARD, SUITE 500 ARLINGTON, VIRGINIA 22201

NOTICE OF CONTRACT AMENDMENT

The Davey Tree Expert Company

DATE ISSUED:

December 31, 2019

10301 Richmond Hwy.

CURRENT REFERENCE NO:

18-073-ITB-LW

Lorton, VA 22079

CONTRACT TITLE:

Tree planting

AMENDMENT NO:

2

THIS IS A NOTICE OF AMENDMENT OF CONTRACT AND NOT AN ORDER. NO WORK IS AUTHORIZED UNTIL THE VENDOR RECEIVES A VALID COUNTY PURCHASE ORDER ENCUMBERING CONTRACT FUNDS.

The contract documents consist of the terms and conditions of AGREEMENT No. 18-073-ITB-LW including any attachments or amendments thereto.

EFFECTIVE DATE: December 1, 2019

EXPIRES: November 30, 2022

RENEWALS: NONE

COMMODITY CODE(S): 23202

LIVING WAGE: Y

PROFFESSIONAL SERVICES: N

ATTACHMENTS:

AMENDMENT NO. 2

EMPLOYEES NOT TO BENEFIT:

NO COUNTY EMPLOYEE SHALL RECEIVE ANY SHARE OR BENEFIT OF THIS CONTRACT NOT AVAILABLE TO THE GENERAL PUBLIC.

VENDOR CONTACT: Robert Craft VENDOR TEL. NO.: (703) 327-9035

EMAIL ADDRESS: Rob.Craft@davey.com

COUNTY CONTACT: Helena Gilbert, DPR, Parks & COUNTY TEL. NO.: (703) 228-7981

Natural Resources

COUNTY CONTACT EMAIL: hgilbe@arlingtonva.us

ARLINGTON COUNTY, VIRGINIA

AGREEMENT NO. 18-073-ITB-LW AMENDMENT NUMBER 2

This Amendment Number 2 is made on the date of execution by the County and amends Agreement Number 18-073-ITB-LW ("Main Agreement") dated January 23, 2018 between The Davey Tree Expert Company, 10301 Richmond Hwy, Lorton, VA 22079 ("Contractor") and the County Board of Arlington County, Virginia ("County").

The County and the Contractor agree to amend the main contract called for under the Main Agreement as follows:

Replace Attachment B – Contract Pricing in its entirety with the attached **Revised Attachment B – Contract Pricing**.

Pricing from December 1, 2019 to November 30, 2022 shall be in accordance with Revised Attachment B.

All other terms and conditions of the Main Agreement remain in effect.

WITNESS these signatures:

THE COUNTY BOARD OF ARLINGTON

THE DAVEY TREE EXPERT COMPANY
COUNTY, VIRGINIA

AUTHORIZED

SIGNATURE: Tomska Price

NAME: TOMEKA PRICE

TITLE: PROCUREMENT OFFICER

DATE: December 31, 2019

AUTHORIZED

SIGNATURE: Cast Crost

NAME AND ROCCULTOST

TITLE: G. B. D. Wakager

DATE: 12/3/2019

Revised Attachment B - Contract Pricing

ALL PRICES SHALL INCLUDE COST OF LABOR, EQUIPMENT, PLANTS AND OR TREES

NO PARTIAL BIDS WILL BE ACCEPTED

DORIGINAL

ADDITIONAL CHARGES FOR SERVICES APPLICABLE TO THE CONTRACT:

ITEMII	SERVICE REQUESTED	Unit Price		Unit of Measurement	Estimated Quantity	Extended Fetal
	Total Cost to prepare Pit for Tree Planting, Excavate, & Backfill per pit Specifications (Pit					rendere di
A .	sibles vary and range from 4's \$" to 30' a \$"	5 3.	165.00		1 .	
-	Estavolica	\$ 3,		Cursic Yel.	-	\$3,160.00
-	Topsoil	5		Cutsic Vol.	20	
D	Wood Chip Path Installation, meterial & Installation	3			150	2017
	Wood Chip Path Installation, with Bimber Edge, Provision & Installation	5		Sq. Ft.	1000	\$2,900.00
	Wood Sarrier Fabric			Sq. Pt.	2000	
S.	Entition Control Fabric	\$	_	5q. Pt.	5000	\$3,500.00
u	Planting Bed Preparation for annuals, Perennials and Shrubs	S		Sq. Pt.	5000	\$6,000.00
n .	One Year Maintenance of Trees	5	-	Sq. Yd.	16000	\$32,500.00
_		\$		Per Tree	1000	\$23,250.00
	One Year Maintenance of Shrutus & Personsials	5		Sq. Yd.	500	\$7,123.00
	One Year Watering Trees			Fer Tree	800	\$106,600.00
	One Year Watering Shrubs & Perennials	5		Sq. Yd.	500	545,000.00
M	One Year Watering Seed or Sod	\$	90.00	Sq. Vd.	1000	\$90,000.00
N	One Time Individual Watering Tree	5	9.25	Per Tree	500	\$4,625.00
00	One time Watering for Shrubs & Perennials	5	13.25	Sq. Vd.	300	53,975.00
P	Small (less than 6 diameter") Stump Removal from Planting Site	5	65:00	Per Stump	150	\$9,750.00
9	Sod	5	0.75	Sq. Ft.	1000	\$750.00
1	Seed	\$	0.65	Sq. Yel	1000	\$650.00
	Plant Protection Fence	5	3.60	Linear Ft.	2000	57,200.00
1	Staking	\$	14.00	Per Tree	1000	\$14,000.00
1	Guying	5	24.00	Per Tree	1000	\$24,000.00
1	Plastic Tree Protective Sleeve	5	2.25	Pér Tree	1000	\$2,250.00
NF.	Gravel	S	45.00	Per Ton	20	\$900.00
	Light Weight Aggregate	5	-	Cubic Vd.	500	\$46,500.00
,	Wend Chips	5	TO SHARE THE PARTY OF	Cubic Vd.	500	\$27,500.00
	Pine fact	5	-	Cubic Yd.	500	\$32,500.00
W.	Imported Soll for Bioretention Areas		Access to the second	Cubic Yd.	250	\$30,000.00
18	Specialty Seed for Biorestention Areas	5	171 71 11 11	Sq. Vd.	250	5812.50
C 2	Propere Referestation Planting Areas			Cubic Vd.	500	\$2,875.00

\$ 553,322.50

Additorial Mark Ups	Mark Up % Per Plant
Additional Percentage Mark Up for Planting the Stricter Provenance of Originating from a	
location within 150 miles of Arthyten County	15.00%
Additional Percentage Mark Up for Plants Requiring a Second Year Guaranteed	35.00%

Subtotal Amount (Mid Tale, Group A Services)	\$	553,322.50
Sutantal Amount (8kd Talls, Group II, Flant Materials)	\$	833,759.32
Grant Total Amount (816 Tals, Group A + Sid Teb, Group #)	5	1,367,061.62

BOTANICAL NAME	COMMON NAME	SIZE	MISC.	UNIT PRI Planted 12/1/19 11/30/22	-	Estimated Quantity	Extended Price 12/1/19 11/30/22
GROUND COVER & VINES			5				
Chrysogonum virginianum	Green and Gold	#1	CONT.	\$	23.08	50	\$1,154.00
Chrysogonum virginianum	Green and Gold	QT/4"	CONT.	\$	10.25	50	
Gaultheria procumbens	Wintergreen	#1	CONT.	\$	21.93	50	\$1,096.50
Goultheria procumbens	Wintergreen	QT/4"	CONT.	\$	18.80	50	
Hypericum calycinum	St. John's Wort	#1	CONT.	\$	10,42	50	
Hypericum calycinum	St. John's Wort	QT/4"	CONT.	\$	10.25	50	
Hypericum calycinum 'Brigadoon'	St. John's Wort	#1	CONT.	\$	23.08	50	
Hypericum calycinum 'Brigadoon'	St. John's Wort	QT/4"	CONT.	\$	10.25	50	
Lonicera sempervirens	Trumpet Honeysuckle	#1	CONT.	\$	21.98	50	
Lonicera sempervirens	Trumpet Honeysuckie	QT/4"	CONT.	s	17.25	50	\$862.50
Pachysandra procumbens	Allegheny Spurge	#1	CONT.	\$	21.98	50	\$1,099.00
Pachysandra procumbens	Allegheny Spurge	QT/4"	CONT.	\$	17.25	50	\$862.50
Parthenocissus quinquefolia	Virginia Creeper	#1	CONT.	\$	28.00	50	\$1,400.00
Parthenocissus quinquefolia	Virginia Creeper	QT/4"	CONT.	\$	17.25	50	\$862.50
Sedum rupestre 'Angelina'	Angelina Sedum	#1	CONT.	\$	21.93	50	\$1,096.50
Sedum ternatum 'Larinem Park'	Woodland Sedum	#1	CONT.	\$	21.93	50	\$1,096.50
Senecio aureus	Golden Ragwort	#1	CONT.	\$	21.93	50	\$1,096.50
Visterio frutescens	American Wisteria	#1	CONT.	\$	28.00	50	\$1,400.00
RASSES						THE REAL PROPERTY.	
Andropogon gerardii	Broom Sedge	#1	CONT.	\$	17.25	25	\$431.25
Andropogon gerardii	Broom Sedge	QT/4"	CONT.	\$	13.50	25	\$337.50
Andropogon virginicus	Broom Sedge	#1	CONT.	\$	17.25	25	\$431.25
Andropogon virginicus	Broom Sedge	QT/4"	CONT.	\$	13.50	25	\$337.50
loutelouo curtipendula	Sideoats Grama	#1	CONT.	\$	17.25	25	\$431.25
louteloua curtipendula	Sideoats Grama	QT/4"	CONT.	\$	13.50	25	\$337.50
alamagrostis acutiflora 'stricta'	Feather Reed Grass	#1	CONT.	\$	17.25	25	\$431.25
alamagrostis acutiflora 'stricta'	Feather Reed Grass	QT/4"	CONT.	\$	13.50	25	\$337.50
alamagrostis arundinacia 'Karl Foerster'	Feather Reed Grass	#1	CONT.	\$	17.25	25	\$431.25
alamagrostis arundinacia 'Karl Foerster'	Feather Reed Grass	QT/4"	CONT.	\$	13.50	25	\$337.50
arex appalachica	Appalachian Sedge	QT/4"	CONT	\$	9.29	25	\$232.13
arex divulsa	Grassland Sedge	QT/4"	CONT.	\$	13.50	25	\$337.50
arex dolichostachya 'Kaga-nishiki'	Variegated Sedge	#1	CONT	\$	17.25	25	\$431.25
orex dolichostochyo 'Kaga-nishiki'	Variegated Sedge	QT/4°	CONT.	\$	13.50	25	\$337.50
arex flaccosperma	Blue Sedge	#1	CONT	\$	17.64	25	\$441.12
arex flaccosperma	Blue Sedge		CONT.	\$	13.50	25	\$337.50 ;
arex flagellifera 'Toffee Twist'	Toffee Sedge		CONT	\$	17.25	25	\$431.25
orex flagellifera 'Toffee Twist'	Toffee Sedge		CONT.	\$	13.50	25	\$337.50

BOTANICAL NAME	COMMON NAME	SIZE	MISC.	Plante 12/1/1 11/30/	19 -	Estimated Quantity	Extended Price 12/1/19 11/30/22
Corex pennsylvanica	Pennsylvania Sedge	#1	CONT	\$	17.41	25	
Carex pennsylvanica	Pennsylvania Sedge	QT/4"	CONT.	\$	13.50	25	\$337.50
Carex stricta	Tussock Sedge	#1	CONT	\$	17.41	25	\$435.28
Carex stricta	Tussock Sedge	QT/4"	CONT.	\$	13.50	25	\$337.50
Chasmanthium latifolium	SeaRiver Oats	#1	CONT	\$	17.25	25	\$431.25
Chasmanthium latifolium	SeaRiver Oats	QT/4"	CONT.	\$	13.50	25	\$337.50
Deschampsia cespitosa	Tufted Hair Grass	#1	CONT	\$	17.25	25	\$431.25
Deschampsia cespítosa	Tufted Hair Grass	QT/4"	CONT.	\$	13.50	25	\$337.50
Deschampsia flexuosa	Wavy Hair Grass	#1	CONT	\$	17.25	25	\$431.25
Deschampsia flexuosa	Wavy Hair Grass	QT/4"	CONT.	\$	13.50	25	\$337.50
Eragrostis spectabilis	Love Grass	#1	CONT	\$	17.25	25	\$431.25
Eragrostis spectabilis	Love Grass	QT/4"	CONT.	S	13.50	25	\$337.50
Festuca glauca 'Elijah Blue', 'Boulder Blue'	Elijah Blue, Boulder Blue Fescue	#1	CONT	\$	17.25	25	\$431.25
Festuca glauca 'Elijah Blue', 'Boulder Blue'	Elijah Blue, Boulder Blue Fescue	QT/4"	CONT.	\$	13.50	25	\$337.50
luncus effusus	Soft Rush	#1	CONT	\$	17.25	25	\$431.25
luncus effusus	Soft Rush	QT/4"	CONT.	\$	13.50	25	\$337.50
Molinia caerulea 'Skyracer'	Moor Grass	#1	CONT.	\$	17.25	25	\$431.25
Molinia caerulea 'Skyracer'	Moor Grass	QT/4"	CONT.	\$	13.50	25	\$337.50
Muhlenbergia capillaris	Muhly Grass	#1	CONT	\$	17.25	25	\$431.25
Muhlenbergia capillaris	Muhly Grass	QT/4"	CONT.	\$	13.50	25	\$337.50
lasella tenuissima	Mexican Hair Grass	#1	CONT	\$	17.25	25	\$431.25
lasella tenuissima	Mexican Hair Grass	QT/4"	CONT.	\$	13.50	25	\$337.50
Panicum virgatum	Switchgrass	#1	CONT.	\$	17.25	25	\$431.25
anicum virgatum	Switchgrass	QT/4"	CONT.	S	13.50	25	\$337.50
anicum virgatum 'Cloud Nine'	Switchgrass	#1	CONT.	S	17.25	25	\$431.25
anicum virgatum 'Cloud Nine'	Switchgrass	QT/4"	CONT.	\$	13.50	25	\$337.50
anicum virgatum 'North Wind'	Switchgrass	#1	CONT.	\$	17.25	25	\$431.25
anicum virgatum 'North Wind'	Switchgrass	QT/4"	CONT.	\$	13.50	25	\$337.50
anicum virgatum 'Shenandoah'	Switchgrass	#1	CONT.	\$	17.25	25	\$431.25
anicum virgatum 'Shenandoah'	Switchgrass	QT/4"	CONT.	\$	13.50	25	\$337.50
chizachyrium scoparium	Little Bluestern	#1	CONT.	\$	17.25	25	\$431.25
chizachyrium scoparium	Little Bluestern	QT/4"	CONT.	\$	13.50	25	\$337.50
chizachyrium scoparium 'The Blues', Prairie Blues', 'Standing Ovation'	Little Bluestem	#1	CONT.	\$	17.25	25	\$431.25
chizachyrium scoparium 'The Blues', Prairie Blues', 'Standing Ovation'	Little Bluestem	QT/4"	CONT.	\$	13.50	25	\$337.50
orghastrum nutans	Indian Grass	#1	CONT.	\$	17.25	25	\$431.25
orghastrum nutans	Indian Grass	QT/4"	CONT.	\$	13.50	25	\$337.50
porobulus heterolepsis	Proirie Dropseed	#1	CONT.	\$	17.25	25	\$431.25

BOTANICAL NAME	COMMON NAME	SIZE	MISC.	UNIT PRICES Planted 12/1/19 - 11/30/22 (increase NTE 1.7%) [¬		Estimated Quantity	Extended Price 12/1/19- 11/30/22
Sporobulus heterolepsis	Prairie Dropseed	QT/4"	CONT.	\$	13.50		\$337.50
BULBS		,					
Crocus spp.	Crocus	Top Size	Bulb	\$	1.77	250	\$442.40
*Narcissus spp.	Daffodil	Top Size	Bulb	\$	2.34	250	\$584.78
PERENNIALS							
Achillea spp.	Yarrow	#1	CONT.	\$	16.83	25	\$420.78
Achillea spp.	Yarrow	QT/4"	CONT.	\$	10.25	25	\$256.25
Adiantum pedatum	Maidenhair Fern	#1	CONT	\$	17.76	25	\$443.92
Adiantum pedatum	Maidenhair Fern	QT/4"	CONT.	\$	12.50	25	\$312.50
Agostoche 'Firebird', 'Purple Haze', 'Golden Jubilee'	Licorice Mint	#1	CONT.	\$	18.21	25	\$455.36
Agastache 'Firebird', 'Purple Haze', 'Golden Jubilee'	Licorice Mint	QT/4"	CONT.	\$	12.50	25	\$312.50
Agastache rupestris	Licorice Mint	#1	CONT.	\$	18.21	25	\$455.36
Agastache rupestris	Licorice Mint	QT/4"	CONT.	\$	12.50	25	\$312.50
Alchemilla mollis	Lady's Mantie	#1	CONT.	\$	17.87	25	\$446.72
Alchemilla mollis	Lady's Mantle	QT/4"	CONT.	\$	12.50	25	\$312.50
Amsonia hubrichtii	Blue Star	#1	CONT.	\$	18.21	25	\$455.36
Amsonia hubrichtii	Blue Star	QT/4"	CONT.	\$	12.50	25	\$312.50
Amsonia tabernaemontana 'Blue Ice'	Blue Star	#1	CONT.	\$	18.21	25	\$455.36
Amsonia tabernaemontana 'Blue Ice'	Blue Star	QT/4"	CONT.	\$	12,50	25	\$312.50
Anemone canadensis	Meadow anemone	#1	CONT	s	18.21	25	\$455.36
Anemone conadensis	Meadow anemone	QT/4"	CONT.	\$	12,50	25	\$312.50
Anemone sylvestris	Windflower	#1	CONT	\$	18,21	25	\$455.36
Anemone sylvestris	Windflower	QT/4°	CONT.	\$	12,50	25	\$312.50
Aquilegia canadensis	Columbine	#1	CONT	\$	17.64	25	\$441.12
Aquilegia canadensis	Columbine	QT/4"	CONT.	\$	12.50	25	\$312.50
Artemesia schmidtiana 'Silver mound'	Silver Mound	#1	CONT.	\$	17.64	25	\$441.12
Artemesia schmidtiana 'Silver mound'	Silver Mound	QT/4"	CONT.	\$	10.50	25	\$262.50
Asclepias incornata	Swamp Milkweed	#1	CONT.	\$	17.50	25	\$437.50
sclepias incornata	Swamp Milkweed	QT/4"	CONT.	\$	10.50	25	\$262.50
sclepias syriaca	Common Milkweed		CONT.	\$	17.50	25	\$437.50
sclepias syriaca	Common Milkweed	QT/4"	CONT.	\$	10.50	25	\$262.50
sclepias tuberosa	Butterflyweed		CONT.	\$	17.50	25	\$437.50
sclepias tuberosa	Butterflyweed		CONT.	\$	10.50	25	\$262.50
ster cordifolius	Common Wood Star Aster			\$	17.50	25	\$437.50
ster cordifolius	Common Wood Star Aster	QT/4°	CONT.	s	10.50	25	\$262.50
ster divaricatus 'Eastern Star'	White wood aster	#1	CONT.	\$	17.07	25	\$426.63
ster divaricatus 'Eastern Star'	White wood aster	-	CONT.	\$	10.50	25	\$262.50

BOTANICAL NAME	COMMON NAME	SIZE	MISC.	Plant 12/1/ 11/30	/19 -	Estimated Quantity	Extended Price 12/1/19- 11/30/22
Aster laevis 'Bluebird'	Bluebird Aster	#1	CONT.	\$	17.07	25	
Aster laevis 'Bluebird'	Bluebird Aster	QT/4"	CONT.	\$	10.50		\$262.50
Aster novae-angliae 'Purple Dome'	Purple Dome Aster	#1	CONT.	\$	17.07	25	\$426.63
Aster novae-angliae 'Purple Dome'	Purple Dome Aster	QT/4"	CONT.	\$	10.50	25	\$262.50
Aster oblongifolius 'Raydon's Favorite'	Raydon's Favorite Aster	#1	CONT.	\$	17.50	25	\$437.50
Aster oblongifolius 'Raydon's Favorite'	Raydon's Favorite Aster	QT/4"	CONT.	\$	10.50	25	\$262.50
Astilbe 'Fanal', 'Peach Blossom', 'Snowdrift', 'Superba'	False Spirea	#1	CONT.	\$	17.07	25	\$426.63
Astilbe 'Fanal', 'Peach Blossom', 'Snowdrift', 'Superba'	False Spirea	QT/4"	CONT.	\$	10.50	25	\$262.50
Athyrium filix-femina	Lady Fern	#1	CONT.	\$	17.87	25	\$446.72
Athyrium filix-femina	Lady Fern	QT/4"	CONT.	\$	12.50	25	\$312.50
Baptisia 'Solar Flare', 'Midnight'	Wild Indigo	#1	CONT.	\$	19.36	25	\$484.09
Baptisia 'Solar Flare', 'Midnight'	Wild Indigo	QT/4"	CONT.	\$	12.50	25	\$312.50
Baptisia australis	Wild Indigo	#1	CONT.	ŝ	18.79	25	\$469.85
Baptisia australis	Wild Indigo	QT/4"	CONT.	\$	12.50	25	\$312.50
Ceratostigma plumbaginoides	Leadwort	#1	CONT.	\$	17.07	25	\$426.63
Ceratostigma plumbaginoides	Leadwort	QT/4"	CONT.	\$	12.50	25	\$312.50
Chelone glabra	Turtlehead	#1	CONT.	\$	17.07	25	\$426.63
Chelone glabra	Turtlehead	QT/4"	CONT.	\$	10.50	25	\$262.50
Cimicifuga racemose	Snokeroot	#1	CONT.	\$	21.09	25	\$527.31
Cimicifuga racemose	Snakeroot	QT/4"	CONT.	\$	12.50	25	\$312.50
Coreopsis 'Sienna Sunset'	Sienna Sunset Coreopsis	#1	CONT.	\$	17.07	25	\$426.63
Coreopsis 'Sienna Sunset'	Sienna Sunset Coreopsis	QT/4"	CONT.	\$	12.50	25	\$312.50
Coreopsis grandiflora 'Early Sunrise'	Early Sunrise Coreopsis	#1	CONT.	\$	17.07	25	\$426.63
Coreopsis grandiflora 'Early Sunrise'	Early Sunrise Coreopsis	QT/4"	CONT.	\$	12.50	25	\$312.50
	Whorled Coreopsis	#1	CONT.	\$	17.07	25	\$426.63
oreopsis verticillata	Whorled Coreopsis	QT/4"	CONT.	\$	12.50	25	\$312.50
Ofeopsis verticillata "Crème Brulee"	Crème Brulee Coreopsis	#1	CONT.	\$	17.07	25	\$426.63
oreopsis verticillata "Crème Brulee"	Crème Brulee Coreopsis	QT/4"	CONT.	\$	12.50	25	\$312.50
ryopteris erythrosora 'Brilliance'	Brilliance Wood Fern	#1	CONT.	\$	17.87	25	\$446.72
ryopteris erythrosora 'Brilliance'	Brilliance Wood Fern	QT/4"	CONT.	\$	12.50	25	\$312.50

BOTANICAL NAME	COMMON NAME	SIZE	MISC.	UNIT PR Planted 12/1/19 11/30/2	 	Estimated Quantity	Extended Price 12/1/19- 11/30/22
Dryopteris marginalis	Evergreen Wood Fern	#1	CONT	\$	17.87	25	\$446.72
Dryopteris marginalis	Evergreen Wood Fern	QT/4"	CONT.	\$	12.50	25	\$312.50
Echinacea purpurea	Coneflower	#1	CONT.	\$	16.95	25	\$423.83
Echinacea purpurea	Coneflower	QT/4°	CONT.	\$	12.50	25	\$312.50
Echinacea purpurea 'White Swan' 'Sunrise', 'Sundown'	Coneflower	#1	CONT.	\$	17.52	25	\$438.07
Echinacea purpurea "White Swan" 'Sunrise', 'Sundown'	Coneflower	QT/4"	CONT.	\$	12.50	25	\$312.50
Epimedium rubrum	Barrenwort	#1	CONT.	\$	19.25	25	\$481.25
Epimedium rubrum	Barrenwort	QT/4"	CONT.	\$	12.50	25	\$312.50
Eupatorium coelestinum	Mist Flower	#1	CONT.	\$	18.79	25	\$469.85
Eupatorium coelestinum	Mist Flower	QT/4"	CONT.	\$	12.50	25	\$312.50
Eupatorium dubium 'Little Joe', 'Baby Joe'	Little Joe, Baby Joe Pye Weed	#1	CONT.	\$	18.79	25	\$469.85
Eupatorium dubium 'Little Joe', 'Baby Joe'	Little Joe, Baby Joe Pye Weed	QT/4ª	CONT.	\$	12.50	25	\$312.50
Eupatorium fistulosum	Trumpetweed	#1	CONT.	S	18.79	25	\$469.85
Eupatorium fistulosum	Trumpetweed	QT/4"	CONT.	\$	12.50	25	\$312.50
Gaillardia x grandiflora 'Oranges and Lemons'	Oranges and Lemons Gaillardia	#1	CONT.	\$	17.76	25	\$443.92
Gaillardia x grandiflora 'Oranges and Lemons'	Oranges and Lemons Gaillardia	QT/4°	CONT.	\$	12.50	25	\$312.50
Gaura lindheimeri 'Sisklyou Pink'	Siskiyou Pink Gaura	#1	CONT.	\$	17.52	25	\$438.07
Gaura lindheimeri 'Siskiyou Pink'	Siskiyou Pink Gaura	QT/4"	CONT.	\$	12.50	25	\$312.50
Geronium endressil 'Wargrave Pink', 'Johnson's Blue', 'Rozanne'	Cranesbill	#1	CONT.	\$	19.14	25	\$478.50
Geranium endressii "Wargrave Pink", Johnson's Blue', "Rozanne"	Cranesbill	QT/4°	CONT.	\$	12.50	25	\$312.50
Geranium maculatum	Wild Geranium	#1	CONT.	\$	19.82	25	\$495.53
Geranium maculatum	Wild Geranium	QT/4"	CONT.	\$	10.25	25	\$256.25
Helianthus decapetalus	Thin-leaved sunflower	#1	CONT.	\$	18.79	25	\$469.85
felianthus decanetalus	Thin-leaved sunflower	QT/4°	CONT.	\$	10.25	25	\$256.25
deuchera 'Plum Pudding', 'Electric Lime', Caramel', 'Berry Smoothie', 'Autumn Bride', 'Palace Purple', 'Georgia Peach', Sugar Plum', 'Autumn Bride'	Coral Bells	#1	CONT	\$	21.66	25	\$541.55

BOTANICAL NAME	COMMON NAME	SIZE	MISC.	UNIT F Plante 12/1/1 11/30/ (increase	id 19 -	Estimated Quantity	Extended Price 12/1/19- 11/30/22
Heuchera 'Plum Pudding', 'Electric Lime', 'Caramel', 'Berry Smoothie', 'Autumn Bride', 'Palace Purple', 'Georgia Peach', 'Sugar Plum', 'Autumn Bride'	Coral Bells	QT/4™	CONT.	\$	12.50	25	
Heuchera americana	Coral Bells	#1	CONT	\$	21.09	25	\$527.31
Heuchera americana	Coral Bells	QT/4"	CONT.	\$	12.50	25	\$312.50
Hibiscus 'Southern Belle', 'Lord Baltimore' 'Kopper King'	Hordy Hibiscus	#1	CONT.	\$	18.91	25	\$472.65
Hibiscus 'Southern Belle', 'Lord Baltimore' 'Kopper King'	Hardy Hibiscus	QT/4°	CONT.	\$	10.25	25	\$256.25
Hibiscus moscheutos	Hardy Hibiscus	#1	CONT.	\$	17.07	25	\$426.63
Hibiscus moscheutos	Hardy Hibiscus	QT/4"	CONT.	\$	10.25	25	\$256.25
Hosta 'August Moon'	Plantain Lily	#1	CONT.	\$	25.12	25	\$628.00
Hosta 'August Moon'	Plantain Lily	QT/4"	CONT.	\$	10.25	25	\$256.25
Hosta fortune 'Aurea marginata'	Plantain Lily	#1	CONT.	\$	20.51	25	\$512.82
Hosta fortune 'Aurea marginata'	Plantain Lily	QT/4"	CONT.	\$	10.25	25	\$256.25
Hosta montana	Plantain Lily	#1	CONT.	\$	22.82	25	\$570.54
Hosta montana	Plantain Lily	QT/4"	CONT.	\$	10.25	25	\$256.25
Hosta sieboldiana 'Francis Williams'	Plantain Lily	#1	CONT.	\$	19.36	25	\$484.09
Hosta sieboldiana 'Francis Williams'	Plantain Lily	QT/4"	CONT.	\$	10.25	25	\$256.25
lris cristata	Dwarf Crested Iris	#1	CONT.	\$	17.07	25	\$426.63
iris cristata	Dwarf Crested Iris	QT/4"	CONT.	\$	10.25	25	\$256.25
Lavandula angustifolia 'Hidcot, 'Munstead'	English Lavender	#1	CONT.	\$	17.07	25	\$426.63
Lavandula angustifolia 'Hidcot, Munstead'	English Lovender	QT/4°	CONT.	\$	10.25	25	\$256.25
Leucanthemum x superbum 'Becky'	Daisy	#1	CONT.	\$	16.72	25	\$417.99
eucanthemum x superbum 'Becky'	Daisy	QT/4"	CONT.	\$	10.25	25	\$256.25
liatris spicata	Gayfeather	#1	CONT.	\$	17.07	25	\$426.63
latris spicata	Gayfeather	QT/4"	CONT.	\$	10.25	25	\$256.25
latris spicata 'Kobold'	Kobold Gayfeather	#1	CONT.	\$	17.07	25	\$426.63
iatris spicata 'Kobold'	Kobold Gayfeather	QT/4"	CONT.	\$	10.25	25	\$256.25
obelia cardinalis	Cardinal flower	#1	CONT.	\$	16.83	25	\$420.78
obelia cardinalis	Cardinal flower	QT/4"	CONT.	\$	10.25	25	\$256.25
Matteuccia struthiopteris	Ostrich Fern	#1	CONT.	\$	17.87	25	\$446.72
Matteuccia struthiopteris	Ostrich Fern	QT/4"	CONT.	\$	12.50	25	\$312.50
Aonarda 'Gardenview Scarlet', 'Marshalls Delight', 'Violet Queen' 'Jacob Cline'	Beebalm	#1	CONT.	\$	17.07	25	\$426.63

BOTANICAL NAME	COMMON NAME	SłZE	MISC.	UNIT P Planted 12/1/1 11/30/ (increase	d 9 -	Estimated Quantity	Extended Price 12/1/19- 11/30/22
<i>Monarda '</i> Gardenview Scarlet', 'Marshall Delight', 'Violet Queen' 'Jacob Cline'	Beebalm	QT/4"	CONT.	\$	10.25	25	\$256.25
Monarda fistulasa	Wild Bergamot	#1	CONT.	\$	17.07	25	\$426.63
Monarda fistulosa	Wild Bergamot	QT/4"	CONT.	\$	10.25	25	\$256.25
Nepeta X 'Six Hills Grant'	Catmint	#1	CONT.	\$	16.72	25	\$417.99
Nepeta X 'Six Hills Grant'	Catmint	QT/4"	CONT.	\$	10.25	25	\$256.25
Penstemon digitalis 'Husker's Red'	Husker's Red Penstemon	#1	CONT.	\$	17.41	25	\$435.28
Penstemon digitalis 'Husker's Red'	Husker's Red Penstemon	QT/4°	CONT.	\$	10.25	25	\$256.25
Perovskia atriplicifolia	Dwarf Russian Sage	#1	CONT.	\$	17.07	25	\$426.63
Perovskia atriplicifolia	Dwarf Russian Sage	QT/4"	CONT.	\$	10.25	25	\$256.25
Phlox paniculato 'Nicky', 'David'	Tall Phiox	#1	CONT.	\$	17.07	25	\$426.63
Phlox paniculata 'Nicky', 'David'	Tall Phlox	QT/4"	CONT.	\$	10.25	25	\$256.25
Phlox subulata 'Emerald Isle'	Emerald Blue Moss Phlox	#1	CONT.	\$	16.72	25	\$417.99
Phlox subulata 'Emerald Isle'	Emerald Blue Moss Phlox	QT/4"	CONT.	\$	10.25	25	\$256.25
Polystichum acrostichoides	Christmas Fern	#1	CONT.	\$	17.87	25	\$446,72
Polystichum acrostichoides	Christmas Fern	QT/4"	CONT.	\$	12.50	25	\$312.50
Porteranthus trifoliatus	Bowman's Root	#1	CONT.	\$	30.00	25	\$750.00
Porteranthus trifoliatus	Bowman's Root	QT/4"	CONT.	\$	25.00	25	\$625.00
Pycanthemum muticum	Mountain Mint	#1	CONT.	\$	17.50	25	\$437.50
Pycanthemum muticum	Mountain Mint	QT/4ª	CONT.	\$	12.50	25	\$312.50
Rudbeckia fulgida	Coneflower	#1	CONT.	\$	17.07	25	\$426.63
Rudbeckia fulgida	Coneflower	QT/4"	CONT.	\$	12.50	25	\$312.50
Rudbeckia trilaba	Three-lobed Coneflower	#1	CONT.	\$	19.25	25	\$481.30
Rudbeckia triloba	Three-lobed Coneflower	QT/4°	CONT.	\$	12.50	25	\$312.50
Rudbeckla X 'Goldstrum', 'Indian Summer'	Goldstrum Rudbeckia	#1	CONT.	\$	18.21	25	\$455.36
Rudbeckia X 'Goldstrum', 'Indian Summer'	Goldstrum Rudbeckia	QT/4"	CONT.	\$	12.50	25	\$312.50
alvia nemorosa 'May Night'	May Night Sage	#1	CONT.	\$	16.83	25	\$420.78
alvia nemorosa 'May Night'	May Night Sage	QT/4"	CONT.	\$	12.50	25	\$312.50
alvia officinalis 'Icterina'	Variegated Evergreen Sage	#1	CONT	\$	17.64	25	\$441.12
alvia officinalis 'Icterina'	Variegated Evergreen Sage	QT/4"	CONT.	\$	10.25	25	\$256.25
antolina Chamaecyparessus	Lavender Catton	#1	CONT.	\$	17.64	25	\$441.12

	COMMON NAME	SIZE	MISC.	UNIT PRICES Planted 12/1/19 - 11/30/22 (increase NYE 1.7%):		Estimated Quantity	Extended Price 12/1/19- 11/30/22
Santolina Chamaecyparessus	Lavender Cotton	QT/4"	CONT.	\$	10.25	25	
Santolina virens	Lavender Cotton	#1	CONT.	\$	17.64	25	\$441.12
Santolina virens	Lavender Cotton	QT/4"	CONT.	\$	10.25	25	\$256.25
Sedum rupestre 'Angelina'	Angelina Sedum	#1	CONT	\$	17.07	25	\$426.63
Sedum rupestre 'Angelina'	Angelina Sedum	QT/4"	CONT.	\$	10.25	25	\$256.25
Sedum spectabile 'Neon'	Neon Sedum	#1	CONT.	\$	17.07	25	\$426.63
Sedum spectabile 'Neon'	Neon Sedum	QT/4"	CONT.	\$	10.25	25	\$256.25
Sedum ternatum 'Larinem Park'	Woodland Sedum	#1	CONT	\$	17.07	25	\$426.63
Sedum ternatum 'Larinem Park'	Woodland Sedum	QT/4"	CONT.	\$	10.25	25	\$256.25
Sedum X 'Autumn Joy', 'Autumn Fire'	Autumn Sedum	#1	CONT.	\$	16.83	25	\$420.78
Sedum X 'Autumn Joy', 'Autumn Fire'	Autumn Sedum	QT/4"	CONT.	\$	10.25	25	\$256.25
Solidago virgaurea	Goldenrod	#1	CONT.	\$	17.64	25	\$441.12
Solidago virgaurea	Goldenrod	QT/4"	CONT.	\$	10.25	25	\$256.25
Stachys byzantina 'Silver Carpet', 'Helene Von Stein'	Lambs Ear	#1	CONT.	\$	17.41	25	\$435.28
Stachys byzantina 'Silver Carpet', 'Helene Von Stein'	Lambs Ear	QT/4"	CONT.	\$	10.25	25	\$256.25
Thelyptens novaboracensis	New York Fern	#1	CONT.	\$	17.87	25	\$446,72
Thelyptens novaboracensis	New York Fern	QT/4"	CONT.	\$	10.25	25	\$256.25
Tiarella cardifolio	Foamflower	#1	CONT.	\$	18.21	25	\$455.36
Tiarella cordifolia	Foamflower	QT/4"	CONT.	\$	10.25	25	\$256.25
Fradescantia 'Sweet Kate'	Spiderwort	#1	CONT.	\$	18.21	25	\$455.36
Tradescontia 'Sweet Kate'	Spiderwort	QT/4"	CONT.	\$	10.25	25	\$256.25
Verbena bonariensis	Brazilian Verbena	#1	CONT.	\$	18.21	25	\$455.36
/erbena bonariensis	Brazilian Verbena	QT/4"	CONT.	\$	10.25	25	\$256,25
/ernonia letermanii 'Iron Butterfly'	Ironweed	#1	CONT.	\$	18.79	25	\$469.85
/ernonia letermanii 'Iron Butterfly'	Ironweed	QT/4"	CONT.	\$	10.25	25	\$256.25
/ernonia noveboracensis	New York Ironweed	#1	CONT.	\$	18.45	25	\$461,21
/ernonia noveboracensis	New York Ironweed	QT/4"	CONT.	\$	10.25	25	\$256.25
/eronica longifolia 'Icicle', 'Sunny Border Blue'	Speedwell	#1	CONT.	\$	17.07	25	\$426.63
<i>'eranica longifalia 'I</i> cicle', 'Sunny Border Ilue'	Speedwell	QT/4"	CONT.	\$	10.25	25	\$256.25
HRUBS	MILLION NO.			TA TO		7	
belia X 'Edward Goucher'	Hybrid Abelia	18-24"	CONT.	\$	47.53	4	\$190.14
belia X grandiflora	Glossy Abelia			\$	45.81	4	\$183.22
linus serrulata	Common Alder				48.68	4	\$194.74
morpha canescens	Leadplant			_	67.09	4	\$268.37
ronia arbutifolia `Brilliantissima'	Red Chokeberry				47.53	4	
				4	-11.J2	*1	\$190.14

				1			
BOTANICAL NAME	COMMON NAME	SIZE	MISC.	Plant 12/1/ 11/30	19 -	Estimated Quantity	Extended Price 12/1/19 11/30/22
Azoleo 'Blaauw'S Pink'; 'Delaware Valley White'; 'Gerard Fushcia'; 'Hershey Orange'; 'Hershey Red'; 'Hino Crimson'; 'Mothers Day'; 'Rosebud'; Tradition'	Salmon Pink; White; Gerard Fushcia; Orange; Red; Crimson; Red; Rose Pink; Pale Pink	15-18"	CONT.	\$	43.96	4	\$175.86
Azolea 'Blaauw'S Pink'; 'Delaware Valley White'; 'Gerard Fushcia'; 'Hershey Orange'; 'Hershey Red'; 'Hino Crimson'; 'Mothers Day'; 'Rosebud'; Tradition'	Salmon Pink; White; Gerard Fushcia; Orange; Red; Crimson; Red; Rose Pink; Pole Pink	18-24"	CONT.	\$	46.39	4	\$185.54
Buxus sempervirens `Suffruticosa'	Suffruticosa Boxwood	15-18"	8&B	\$	67.09	4	\$268.37
Callicarpa americana	American Beautyberry	18-24"	CONT.	\$	46.39	4	\$185.54
Calycanthus floridus	Carolina Allspice	18-24"	CONT.	\$	49.83	4	\$199.33
Caryopteris 'Longwood Blue', 'Black Knight'	Caryopteris	18-24"	CONT.	\$	46.39	4	\$185.54
Ceanothus americanus	New Jersey Tea	15-18"	CONT.	\$	67.09	4	\$268.37
Cephalanthus occidentalis	Buttonbush	18-24"	CONT.	\$	48.68	4	\$194.74
Clethra ainifolia	Summersweet	18-24"	CONT.	\$	46.39	4	\$185.54
Clethra alnifolia `Hummingbird'	Hummingbird Summersweet	15–18"	CONT.	\$	46.39	4	\$185.54
Clethra alnifolia `Rosea', 'Ruby Spice'	Pink Summersweet	18-24"	CONT.	\$	46.39	4	\$185.54
Cornus amomum	Silky Dogwood	24-36"	B&B	\$	56.64	4	\$226.55
Cornus sericeo	Redosier Dogwood	18-24"	CONT.	\$	46.39	4	\$185.54
Corylus americana	American Hazelnut	15-18"	CONT.	\$	62.48	4	\$249.94
Cotoneaster dammeri `Skogholm', 'Coral Beauty'	Bearberry Cotoneaster	15-18"	CONT.	\$	44.08	4	\$176.31
Cotoneaster solicifolius 'Repandans'	Willowleaf Cotoneaster	15-18"	CONT.	\$	44.08	4	\$176.31
Forsythia X Intermedia	Border Forsythia	24-36"	8&8	\$	56.64	4	\$226.55
Fothergilla gardenii	Dwarf Fothergilla	15-18"	CONT.	\$	56.74	4	\$226.95
Hamamelis virginiana	Common Witchhazel	36-48"	B&B	\$	158.10	4	\$632.41
Hamamells x intermedia 'Arnold Promise', Jelena'	Arnold Promise, Jelena Witchhazel	18-24"	8&8	\$	59.04	4	\$236.15
lydrangea arborescens	Wild Hydrangea	15-18"	CONT.	\$	52.71	4	\$210.84
lydrangea quercifolia	Oakleaf Hydrangea	18-24"	CONT.	\$	55.59	4	\$222.36
typericum Proliticum	Shrubby St. Johnswort	15-18"	CONT.	\$	47.53	4	\$190.14
lypericum androsaemum	Tutsan	15-18"	CONT.	\$	52.71	4	\$210.84
lypericum densiflorum	St. Johnswort	15-18"	CONT.	\$	47.53	4	\$190.14

BOTANICAL NAME	COMMON NAME	SIZE	MISC.	UNIT PRICES Planted 12/1/19 - 11/30/22 (increase NTE 1.7%)	Estimated Quantity	Extended Price 12/1/15 11/30/22
llex glabra	Inkberry	18-24"	CONT.	\$ 48.68	4	\$194.74
llex glabra Compacta `Shamrock'	Shamrock Inkberry	18-24"	CONT.	\$ 48.68	4	\$194.74
llex glabra Compacta 'Shamrock'	Shamrock Inkberry	24-36"	CONT	\$ 95.75	4	\$383.00
llex verticillata	Winterberry	24-36"	B&B	\$ 56.64	4	\$226.55
llex verticillata `Winter Red'	Winter Red Winterberry	24-36"	B&B	\$ 56.64	4	\$226.55
llex verticillata 'Jim Dandy'	Jim Dandy Winterberry	24-36"	B&B	\$ 56.64	4	\$226.55
llex verticillata 'Red Sprite'	Red Sprite Winterberry	18-24"	B&B	\$ 46.39	4	\$185.54
ilex X Aquipernyi 'Dragon Lady'	Dragon Lady Holly	3-4'	CONT.	\$ 215.62	4	\$862.50
Hex X Meserveae `China Boy', 'Blue Prince'	Male Blue Holly	18-24"	CONT.	\$ 47.53	4	\$190.14
llex X Meserveae `China Girl', 'Blue Princess'	Female Blue Holly	18–24"	CONT.	\$ 47.53	4	\$190.14
Itea virginica	Virginia Sweetspire	18-24"	CONT.	\$ 48.68	4	\$194.74
ltea virginica `Henry'S Garnet'	Henry's Garnet Virginia Sweetspire	18-24"	CONT.	\$ 46.39	4	\$185.54
itea virginica 'Little Henry'	Little Henry Virginia Sweetspire	15-18"	CONT.	\$ 50.64	4	\$202.55
lasminum nudiflorum	Winter Jasmine	15-18"	CONT.	\$ 44.08	4	\$176.31
luniperus chinensis 'Pfitzeriana'	Pfitzeriana Juniper	18-24"	CONT.	\$ 44.08	4	\$176.31
luniperus chinensis 'Sea Green'	Sea Green Chinese Juniper	18-24"	CONT.	\$ 42.93	4	\$171.71
uniperus chinensis `Spartan', 'Robusta Green'	Spartan Chinese Juniper	5-6'	8&8	\$ 256.45	4	\$1,025.79
uniperus chinensis Var. Sargentii 'Glauca'	Dwarf Chinese Juniper	15-18"	CONT.	\$ 41.78	4	\$167.11
uniperus conferta 'Blue Pacific'	Shore Juniper	15-18"	CONT.	\$ 41.78	4	\$167.11
uniperus horizontolis `Bar Harbor', Blue lug', 'Plumosa Compacta'	Creeping Juniper	15-18"	CONT.	\$ 42.93	4	\$171.71
uniperus procumbens 'Nana'	Gorden Juniper	15-18"	CONT.	\$ 42.93	4	\$171.71
uniperus scopulorum 'Blue Haven'	Blue Haven Juniper	5-6'	8&B	\$ 152.22	4	\$608.90
almia latifolia	Mountain Laurel	15-18"	CONT.	\$ 50.98	4	\$203.93
Indera benzoin	Spicebush	15–18"	CONT.	\$ 48.68	4	\$194.74
hotinia X Frazier	Frazier Photinia	24-36"	CONT.	\$ 72.74	4	\$290.94
ieris japonica	Japanese Andromeda	18-24"	CONT.	\$ 53.28	4	\$213.12
otentialla fruticose 'Goldfinger'	Shrubby Cinquefoil	15–18"	CONT.	\$ 43.51	4	\$174.03
runus laurocerasus `Otto Luyken'	Otto Luyken Laurel	18-24"	CONT.	\$ 65.94	4	\$263.77
hododendren `Pjm"	Pjm Rhododendren	18-24"	CONT.	\$ 56.74	4	\$226.95

Links	and the same of th						
BOTANICAL NAME	COMMON NAME	SIZE	MISC.		UNIT PRICES Planted 12/1/19 - 11/30/22 (Increase MTE 1.7%)	Estimated Quantity	Extended Price 12/1/15 11/30/22
Rhododendron calendulaceum	Flame Azalea	15-18"	CONT.		\$ 67.09	4	\$268.37
Rhododendron catawbiense 'Roseum Elegans'; 'Chionoides'; 'English Roseum'; 'Nova Zembla'	Lavender Pink; White; Rose Pink; Red	18-24"	CONT.		\$ 56.74	4	\$226.95
Rhododendron nudiflorum	Pinkster Bloom Azalea	15-18"	CONT.		\$ 67.09	4	\$268.37
Rhododendron vaseyi	Pink Shell Azalea	15-18"	CONT.		\$ 67.09	4	\$268.37
Rhus Aromatica 'Gro-Low'	Fragrant Sumac	15-18"	CONT.		\$ 46.39	4	\$185.54
Rhus copallina	Winged Sumac	15-18"	CONT.		\$ 67.09	4	\$268.37
Rhus glabra	Smooth Sumac	15-18"	CONT.		\$ 67.09	4	\$268.37
Sambucus canadensis	American Elderberry	15-18*	CONT.		\$ 49.83	4	\$199.33
Syringa patula 'Miss Kim'	Miss Kim Lilac	15-18"	CONT.		\$ 50.98	4	\$203.93
Taxus X Media `Densiformis'	Dense Spreading Yew	15–18"	в&в		\$ 50.41	4	\$201.65
Thuja occidentalis 'Degroot's Spire'	Degroot'S Spire Arborvitae	3-4'	B&B		\$ 111.86	4	\$447.44
Vaccinium angustifolium	Low Bush Blueberry	15-18"	CONT.	r	\$ 50.98	4	\$203.93
Vaccinium corymbosum	High Bush Blueberry	15-18"	CONT.		\$ 50.98	4	\$203.93
Vaccinium fuscatum	Black highbush Blueberry	15-18"	CONT.		\$ 67.09	4	\$268.37
Viburnum dentatum	Arrowwood Viburnum	24-36"	CONT.	Ī	\$ 60.08	4	\$240.34
Viburnum dentatum 'Blue Muffin'	Blue Muffin Vibumum	18-24"	CONT.		\$ 50.64	4	\$202.55
Viburnum nudum	Possumhaw	18-24"	CONT.	1	\$ 49.83	4	\$199.33
Viburnum trilobum	American Cranberrybush	18-24"	CONT.		\$ 50.98	4	\$203.93
/iburnum X Burkwoodii	Burkwood Viburnum	18-24"	CONT.		\$ 49.83	4	\$199.33
REES				Т		11 1	
Acer griseum	Paperbark Maple	6-7' TREE FORM	8&B	5	273.15	5	\$1,365.73
Acer griseum	Paperbark Maple	8-10' TREE FORM	B&B	\$	424.41	5	\$2,122.07
cer negundo	Boxelder	1-1½ " CAL.	B&B	\$	251.85	5	\$1,259.25
cer rubrum	Red Maple	1-1½ " CAL./4-5'	CONT.	\$	165.00	25	\$4,125.00

BOTANICAL NAME	COMMON NAME		MISC.	UNIT PRICES Planted 12/1/19 - 11/30/22 (increase NTE 1.7%)	Estimated Quantity	Extended Price 12/1/19 11/30/22
Acer rubrum	Red Maple	2-2½" CAL.	B&B	\$ 396.80	25	\$9,920.07
Acer rubrum `Armstrong'	Armstrong Red Maple	2-2½ " CAL.	В&В	\$ 396.80	25	\$9,920.07
Acer rubrum `Armstrong'	Armstrong Red Maple	3-3 ½ CAL.	8&8	\$ 741.30	25	\$18,532.54
Acer rubrum 'October Glory'	October Glory Red Maple	2-2½" CAL.	B&B	\$ 414.32	25	\$10,357.89
Acer rubrum 'Red Sunset'	Red Sunset Red Maple	2-2½" CAL.	8&8	\$ 414.32	5	\$2,071.58
Acer rubrum 'Bowhall'	Bowhall Red Maple	2-2%" CAL.	B&B	\$ 396.80	5	\$1,984.01
Acer rubrum 'October Glory'	Oct. Glory Red Maple	3-3½" CAL.	в&в	\$ 789.14	25	\$19,728.53
Acer rubrum 'Red Sunset'	Red Sunset Red Maple	3-3½" CAL.	8&8	\$ 789.17	5	\$3,945.86
Acer truncotum 'Warrenred'	Pacific Sunset Maple	2-2½" CAL.	B&B	\$ 414.32	5	\$2,071.58
Acer X Freemanii 'Celzam'	Celebration Maple	2-2½" CAL.	B&B	\$ 414.32	5	\$2,071.58
Aesculus pavia	Red Buckeye	6-7' TREE FORM	B&B	\$ 372.23	5	\$1,861.16
Aesculus pavia	Red Buckeye	8-10' Tree Form	B&B	\$ 615.16	5	\$3,075.81
Amelancheir canadensis	Shadblow Serviceberry	1-1½ " CAL./4-5'	CONT.	\$ 165.00	25	\$4,125.00
Amelancheir canadensis	Shadblow Serviceberry	8-10' TREE FORM	B&B	\$ 389.65	5	\$1,948.27
Amelanchier arborea	Downy Serviceberry	1-1% " CAL./4-5'	CONT.	\$ 165.00	25	\$4,125.00
Amelanchier arborea	Downy Serviceberry	6-7'	В&В	\$ 286.51	5	\$1,432.55
lmelanchier canadensis	Shadblow Serviceberry	6-7'	B&B	\$ 286.51	5	\$1,432.55
melanchier laevis	Allegheny Serviceberry	3 GAL	CONT.	\$ 52.00	25	\$1,300.00
melanchier laevis	Allegheny Serviceberry	6-7'	B&B	\$ 286.51	5	\$1,432.55
melanchier laevis	Allegheny Serviceberry	8-10' TREE FORM	B&B	\$ 389.83	5	\$1,949.13
melanchier X Grandiflora 'Autumn rilliance'	Autumn Brilliance	6-7' TREE FORM	B&B	\$ 262.01	5	\$1,310.05

BOTANICAL NAME	COMMON NAME	SIZE	MISC.	Pla 12/ 11/	IT PRICES nted 1/19 - 30/22 case NTE 1.7%) -	Estimated Quantity	Extended Price 12/1/19 11/30/22
Amelanchier X Grandiflora 'Autumn Brilliance'	Autumn Brilliance	8-10' TREE FORM	8&B	\$	389.83	5	\$1,949.13
Asimina triloba	Paw Paw	3-4'	CONT.	\$	153.22	5	\$766.11
Betula nigra	River Birch	3 GAL	CONT.	\$	52.00	25	\$1,300.00
Betula nigra	River Birch	6-7'	B&B	\$	183.63	5	
Betulo nigro 'Heritage'	Heritage River Birch	6-7'	B&B	\$	183.63	5	
Betulo nigro 'Dura Heat'	Duro Heat River Birch	6-7'	B&B	\$	183.63	5	
Corpinus betulus 'Fastigiata'	European Hornbeam	2-2½" CAL.	8&B	\$	431.46	5	\$2,157.31
Carpinus carolina	American Hornbeam	3 GAL	CONT.	\$	65.00	25	\$1,625.00
Carpinus carolina	American Hornbeam	6-7'	в&в	\$	213.03	5	\$1,065.15
Carya cordiformes	Bitternut Hickory	3-4'	CONT.	\$	153.22	5	\$766.11
Carya glabra	Pignut Hickory	3-4'	CONT.	\$	153.22	5	\$766.11
Carya illinoensis	Pecan	3-4'	CONT.	\$	153.22	5	\$766.11
Carya tomentosa	Mockernut Hickory	3-4'	CONT.	\$	153.22	5	\$766.11
Castanea pumilo	Chinquapin	3-4'	CONT.	\$	153.22	5	\$766.11
Cedrus atlantica	Atlas Cedar	6-7'	B&B	\$	333.49	5	\$1,667.47
Pedrus deodora	Deodar Cedar	5-6'	B&B	\$	272.26	5	\$1,361.31
Celtis laevigata	Sugar Hackberry	2-2½" CAL.	B&B	\$	414.32	5	\$2,071.58
Celtis Occidentalis	Hackberry	1/2" cal / 2 GAL/ 4- 5"	CONT.	\$	165.00	25	\$4,125.00
eltis accidentalis	Hackberry	2-2½" CAL.	в&в	\$	414.32	5	\$2,071.58
ercidophyllum japonicum	Katsuratree	6-7' TREE FORM	B&B	\$	262.01	5	\$1,310.05
ercidophyllum japonicum	Kotsuratree	8-10' TREE FORM	B&B	\$	431.46	5	\$2,157.31
ercis canadensis	Redbud	3 GAL	CONT.	\$	65.00	25	\$1,625.00
ercis canadensis	Redbud	6-7'	B&B	\$	213.03	5	\$1,065.15
ercis canadensis	Redbud	8-10' TREE FORM	B&B	\$	333.49	5	\$1,667.47
ercis canadensis `Forest Pansy'	Forest Pansy Redbud	6-7'	6&B	\$	225.28	100	\$22,527.57
hionanthus virginicus	ringetree	3 GAL	CONT.	\$	65.00	25	\$1,625.00

BOTANICAL NAME	COMMON NAME	SIZE	MISC.	3	JNIT PRICES Planted 12/1/19 - 11/30/22 increase NTE 1.7%)	Estimated Quantity	Extended Price 12/1/19- 11/30/22
Chionanthus virginicus	Fringetree	6-7'	8&8	7	\$ 335.50	100	\$33,549.81
Cladrastus lutea (C. kentukea)	Yellowwood	1¾-2" CAL.	в&в		\$ 357.98	5	\$1,789.92
Cornus alternifolia (tree form)	Pagoda Dogwood	6-7'	B&B		\$ 287.00	5	\$1,435.00
Cornus florida	Flowering Dogwood	3 GAL	CONT.		\$ 65.00	25	
Cornus florida	Flowering Dogwood	6-7'	в&в		\$ 200.78	50	\$10,038.81
Cornus kousa	Kousa Dogwood	6-71	В&В		\$ 262.01	25	\$6,550.24
Cornus mas	Comelian Cherry	6-7'	B&B	T	225.28	5	\$1,126.38
Cornus X Rutdan	Celestial Dogwood	6-7'	B&B		213.03	5	\$1,065.15
Cotinus obovatus	American smoketree	3-4'	CONT	1	153.22	5	\$766.11
Crataegus crusgalli `Inermis'	Thornless Hawthorn	6-7'	8& B	1	298.75	5	\$1,493.77
Crotoegus laevigota `Superba'	Crimson Cloud English Hawthorn	6-7'	B&B	1	298.75	5	\$1,493.77
Crataegus phaenopyrum	Washington Hawthorn	6-7'	B&B	ş	298.75	5	\$1,493.77
Crataegus viridis 'Winterking'	Green Hawthorne	6-7"	B&B	13	249.77	5	\$1,248.83
Cryptomeria Japonica	Japanese Cedar	6-7'	CONT.	\$	298.75	5	\$1,493.77
Diospyros virginiana	Persimmon	3-4'	CONT.	S	153.22	5	\$766.11
Fagus grandifolia	American Beech	1¾-2" CAL.	B&B	\$	382.47	5	\$1,912.37
Ginkgo biloba `Male' 'Autumn Gold'	Male Gingko	2-2½° CAL.	B&B	\$	468.21	50	\$23,410.32
Ginkgo biloba 'Male' 'Autumn Gold'	Male Gingko	3-3½" CAL.	B&B	\$	985.13	25	\$24,628.18
<i>Gleditsia triacanthos v</i> ar. <i>Inermis</i> Shademaster'	Thornless Honeylocust	2-2½″ C	B&B	\$	406.97	5	\$2,034.86
Gleditsia triacanthos var. Inermis Shademaster	Thomless Honeylocust	3-3% CAL.	B&B	\$	752.44	5	\$3,762.19
Symnocladus dioicus	Kentucky Coffee Tree	% " CAL./ 4-5'	CONT.	\$	165.00	25	\$4,125.00
Gymnocladus dioicus	Kentucky Coffee Tree	2-2½" CAL.	B&B	\$	419.22	5	\$2,096.09
lalesia carolina	Carolina Silverbell	6-7'	в&в	\$	286.51	5	\$1,432.55
ex opaca Female	American Holly Female	5-6'	B&B	\$	443.72	50	\$22,185.86
ex opaca Male	American Holly Male	5-6'	в&в	\$	443.72	50	\$22,185.86
ex X Attenuata `Fosteri'	Fosters Holly	5-6'	B&B	\$	321.24	5	\$1,606.20

		1		1		
BOTANICAL NAME	COMMON NAME	SIZE	MISC.	UNIT PRICES Planted 12/1/19 - 11/30/22 (increase NTE 1.7%)	Estimated Quantity	Extended Price 12/1/19 11/30/22
llex X Attenuata `Fosteri'	Fosters Holly	7-8'	B&B	\$ 406.97	5	-
llex X Nellie Stevens	Nellie Stevens Holly	5-6'	8&B	\$ 262.01	5	\$1,310.05
Juglans nigra	Black Walnut	3-4'	CONT.	\$ 153.22	5	-
Juniperus virginiana	Eastern Redcedar	5-6'	в&в	\$ 284.51	5	\$1,422.53
Juniperus virginiana 'Emerald Sentinel'	Emerald Sentinel Redcedar	5-6'	B&B	\$ 296.75	5	\$1,483.75
Lagerstroemia `Biloxi'; 'Comanche'; 'Miami';'Natchez'; 'Tuscarora'; 'Yuma'; 'Catawba'; 'Sioux'	Crapemyrtle	6-7'	в&в	\$ 296.75	5	\$1,483.75
Lagerstroemia `Biloxi'; 'Comanche'; 'Miami';'Natchez'; 'Tuscarora'; 'Yuma'; 'Catawba'; 'Sioux'	Crapemyrtle	8-10'	B&B	\$ 445.12	100	\$44,512.06
Liquidambar styraciflua	American Sweetgum	½ " CAL./ 4-5'	CONT.	\$ 165.00	25	\$4,125.00
Liquidambar styraciflua	American Sweetgum	2-2 % CAL.	в&в	\$ 382.47	25	\$9,561.83
Liquidambar styraciflua 'Cherokee'	Cherokee Sweetgum	1¾-2" CAL.	B&B	\$ 345.74	5	\$1,728.70
Liquidambar styraciflua 'Cherokee'	Cherokee Sweetgum	2-2 % CAL.	в&в	\$ 382.47	5	\$1,912.37
Liquidambar styraciflua 'Rotundiloba'	Fruitless Sweetgum	2-2 ½ CAL	B&B	\$ 414.32	5	\$2,071.58
Liriodendron tulipifera	Tuliptree	½ " CAL./ 4-5'	CONT.	\$ 165.00	25	\$4,125.00
Liriodendron tulipifero	Tuliptree	2-2 % CAL.	B&B	\$ 382.47	5	\$1,912.37
Magnolia acuminata	Cucumber Magnolia	5-6'	CONT.	\$ 345.74	5	\$1,728.70
Magnolia grandiflora	Southern Magnolia	8-10'	B&B	\$ 616.85	25	\$15,421.28
Magnolia stellata	Star Magnolia	6-7'	B&B	\$ 321.24	5	\$1,606.20
Vlagnolia steliata	Star Magnolia	8-10'	в&в	\$ 555.62	5	\$2,778.09
Magnolia virginiana	Sweetbay	6-7'	B&B	\$ 309.00	5	\$1,544.98
Magnolia X `Galaxy'	Galaxy Magnolia	6-7' TREE FORM	B&B	\$ 357.98	5	\$1,789.92
Aagnolia X Soulangiana	Saucer Magnolia	6-7'	B&B	\$ 309.00	5	\$1,544.98
Aalus angustifolia	Southern Crabapple	3-4'	CONT.	\$ 214.45	5	\$1,072.27
Malus coronaria	Sweet Crabapple	3-4'	CONT.	\$ 214.45	5	\$1,072.27
Metasequola glyptostroboldes	Dawn redwood		B&B	\$ 357.98	5	\$1,789.92
Norus rubro	Red Mulberry	3-4'	CONT.	\$ 153.22	5	\$766.11

BOTANICAL NAME	COMMON NAME	SIZE	MISC.	UNIT PRICES Planted 12/1/19 - 11/30/22 (increase NTE 1.7%)	Estimated Quantity	Extended Price 12/1/19 11/30/22
Nyssa Sylvatica	Blackgum	1/2" cal / 2 GAL/ 4- 5'	1	\$ 165.00	25	\$4,125.00
Nyssa sylvatica	Blackgum	1%-2" CAL.	B&B	\$ 370.23	50	\$18,511.43
Nyssa sylvatica 'Forum'; 'Red Rage'	'Forum'; Or 'Red Rage' Blackgum	1 %-2 CAL.	B&B	\$ 382,47	5	\$1,912.37
Ostrya virginiana	Hophombeam	6-7'	B&B	\$ 237.52	5	\$1,187.60
Oxydendron arboreum	Sourwood	6-7'	В&В	\$ 311.00	5	\$1,554.99
Picea omorika	Serbian Spruce	5-6'	B&B	\$ 284.51	5	\$1,422.53
Picea pungens	Colorado Blue Spruce	5-6'	B&B	\$ 284.51	5	\$1,422.53
Pinus echinata	Shortleaf Pine	3-4'	CONT.	\$ 247.76	5	\$1,238.81
Pinus nigra	Austrian Pine	5-6'	B&B	\$ 272.26	5	\$1,361.31
Pinus rigida	Pitch Pine	3-4'	CONT.	\$ 247.76	5	\$1,238.81
Pinus strobus	Eastern White Pine	5-6'	8&B	\$ 242.86	5	\$1,214.30
Pinus taeda	Lobiolly Pine	5-6'	B&B	\$ 211.02	50	\$10,550.87
Pinus virginiana	Virginia Pine	5-6'	B&B	\$ 260.01	5	\$1,300.03
Platanus occidentalis	Sycamore	1/2 " CAL./ 4-5'	CONT.	\$ 65.00	25	\$1,625.00
Platanus occidentalis	Sycamore	2-2½" CAL.	B&B	\$ 382.47	5	\$1,912.37
Platanus X Acerifolia `Bloodgood'	London Planetree	2-2%" CAL.	8&B	\$ 394.73	5	\$1,973.64
Platanus X Acerifolia `Bloodgood'	London Planetree	3-3½' CAL.	B&B	\$ 740.19	5	\$3,700.96
Prunus 'Okame'	Okame Cherry	6-7'	в&в	\$ 200.78	5	\$1,003.88
Prunus 'Okame'	Okame Cherry	8-10'	B&B	\$ 333.49	5	\$1,667.47
Prunus americana	American Plum	3-4'	CONT.	\$ 153.22	5	\$766.11
Prunus angustifolia	Chickasaw Plum	3-4'	CONT.	\$ 153.22	5	\$766.11
Prunus mume	Japonese Apricot	6-7'	8&8	\$ 240.00	5	\$1,200.00
Prunus sargentii	Sorgent Cherry	8-10'	8&8	\$ 357.98	5	\$1,789.92
runus sargentii 'Columnaris'	Columnar Sargent Cherry	8-10'	B&B	\$ 382.47	5	\$1,912.37
runus Serotina	Wild Cherry	1/2" cal / 2 GAL	CONT.	\$ 165.00	25	\$4,125.00
runus Serotina	Black Cherry	3 GAL	CONT.	\$ 65.00	25	\$1,625.00
runus serotina	Black Cherry	3-4'	CONT.	\$ 153.22	5	\$766.11
runus supnirtella Autumpalis'	Higan or Fall- flowering Cherry	6-7'	B&B	\$ 240.00	5	\$1,200.00
runus yedoensis 'Akebono'	Akebono Cherry	6-7'	8&8	\$ 200.78	5	\$1,003.88
telea trifoliata	Hoptree	5-6'	8&B	\$ 188.53	5	\$942.66

BOTANICAL NAME	COMMON NAME			Plan 12/1 11/3	T PRICES 1/19 - 10/22 250 NTE 1.7%)	Estimated Quantity	Extended Price 12/1/19 11/30/22
Quercus alba	White Oak	½ " CAL./ 4-5'	CONT.	\$	165.00	25	\$4,125.00
Quercus alba	White Oak	1¾-2" CAL.	8&B	\$	370.23	25	\$9,255.72
Quercus bicolor	Swamp White Oak	½ " CAL./ 4-5'	CONT.	\$	165.00	25	\$4,125.00
Quercus bicolor	Swamp White Oak	1%-2" CAL.	B&B	\$	357.98	25	\$8,949.60
Quercus Coccinea	Scarlett Oak	½ " CAL./ 4-5'/ 2 GAL	CONT.	\$	165.00	25	\$4,125.00
Quercus coccinea	Scarlet Oak	1¾-2" CAL.	B&B	\$	357.98	5	\$1,789.92
Quercus coccinea	Scarlet Oak	3-3½" CAL.	8&8	\$	776.93	5	\$3,884.63
Quercus falcata	Southern Red Oak	3 GAL	CONT.	\$	65.00	25	\$1,625.00
Quercus falcata	Southern Red Oak	3-4'	CONT	\$	188.53	50	\$9,426.57
Quercus hemisphaerica	Darlington Oak	2-2½" CAL.	8&8	\$	431.46	5	\$2,157.31
Quercus imbricaria	Shingle Oak	1%-2" CAL.	в&в	\$	370.23	5	\$1,851.14
Quercus lyrata	Overcup Oak	1¾-2" CAL.	8&B	\$	382.47	5	\$1,912.37
Quercus macrocarpa	Bur Oak	1¾-2" CAL.	B&B	\$	370.23	5	\$1,851.14
Quercus marilandica	Blackjack Oak	3-4'	CONT	\$	188.53	5	\$942.66
Quercus montana (Quercus prinus)	Chestnut Oak	3 GAL	CONT.	\$	65.00	25	\$1,625.00
Quercus montana (Quercus prinus)	Chestnut Oak	3-4'	CONT.	\$	188.53	5	\$942.66
Quercus palustrus	Pin Oak	% " CAL./ 4-5'	CONT.			25	\$0.00
Quercus palustrus	Pin Oak	2-2½" "CAL	B&B	\$	65.00	5	\$325.00
Quercus palustrus	Pin Oak	3-3%" CAL.	8&8	\$	165.00	5	\$825.00
Quercus phellos	Willow Oak	% " CAL./ 4-5'	CONT.	\$	165.00	25	\$4,125.00
Quercus Phellos	Willow Oak	1 GAL	CONT.	\$	65.00	25	\$1,625.00
Quercus phellos	Willow Oak	2-2½" CAL.	B&B	\$	394.73	50	\$19,736.41
Quercus phellos	Willow Oak	3-3½" CAL.	B&B	\$	727.94	25	\$18,198.45

BOTANICAL NAME	COMMON NAME	v [*		Plan 12/1 11/3	/19 -	Estimated Quantity	Extended Price 12/1/19 11/30/22
Quercus robur	English Oak	1¾-2" CAL.	8&8	\$	370.23	5	\$1,851.14
Quercus rubro	Northern Red Oak	½ " CAL./ 4-5'	CONT.	\$	165.00	25	\$4,125.00
Quercus rubra	Northern Red Oak	1¾-2" CAL.	8&B	\$	357.98	5	\$1,789.92
Quercus rubro	Northern Red Oak	3-3½" CAL.	B&8	\$	764.68	5	\$3,823.41
Quercus shumardii	Shumard Oak	1%-2" CAL.	в&в	\$	357.98	5	\$1,789.92
Quercus stellata	Post Oak	1%-2° CAL.	B&B	\$	419.22	5	\$2,096.09
Quercus stellata	Post Oak	3-4'	CONT.	\$	247.76	5	\$1,238.81
Quercus velutino	Black Oak	% " CAL./ 4-5'	CONT.	\$	175.00	25	\$4,375.00
Quercus velutina	Black Oak	3-4'	CONT.	\$	247.76	5	\$1,238.81
Quercus Velutina	Black Oak	7 GAL	CONT.	\$	247.76	25	\$6,194.00
Rhus Typhina	Staghorn Sumac	1/2" cal / 2 GAL	CONT.	\$	125.00	25	\$3,125.00
Rhus typhina	Staghorn Sumac	5-6'	B&B	\$	200.78	5	\$1,003.88
Robinia pseudoacacia	Black Locust	½ " CAL./ 4-5'	CONT.	\$	165.00	25	\$4,125.00
Robinia pseudoacacia	Black Locust	1%-2" CAL.	B&B	\$	357.98	5	\$1,789.92
Salix nigra	Black Willow	3-4'	CONT.	\$	151.79	5	\$758.94
Sassafras Albidum	Sassafras	1/2" col / 2 GAL	CONT.	\$	185.00	25	\$4,625.00
Sassafras Albidum	Sassafras	3 GAL	CONT.	\$	80.00	25	\$2,000.00
Sassafras albidum	Sassafras	3-4'	CONT.	\$	188.53	5	\$942.66
Styrox americanus	American Snowbell	3-4'	CONT.	\$	188.53	5	\$942.66
Syringa reticulata `Ivory Silk'	Japanese Tree Lilac – tree form	6-7'	8&8	\$	237.52	5	\$1,187.60
Taxodium ascendens	Pond Cypress	2-2 1/2" CAL		\$	394.73	5	\$1,973.64
axodium distichum	Baldcypress	2-2½" CAL.	8&8	\$	370.23	5	\$1,851.14
axodium distichum	Baldcypress	3 GAL	CONT.	\$	65.00	25	\$1,625.00
ilia americana 'Shamrock'	Shamrock Linden	2-2½" CAL.	B&B	\$	419.22	5	\$2,096.09
Ilia cordata	Littleleaf Linden	2–2½" CAL.	B&B	\$	406.97	5	\$2,034.86

BOTANICAL NAME	COMMON NAME	SIZE	MISC.	Plant 12/1/ 11/30	19 -	Estimated Quantity	Extended Price 12/1/19 11/30/22
Tilia tomentosa `Green Mountain'	Gr. Mt. Silver Linden	2-2½" CAL.	в&в	\$	406.97	5	\$2,034.86
Tsuga canadensis	Canadian Hemlock	5-6'	8&B	\$	272.26	5	\$1,361.31
Ulmus 'Vailey Forge'	Valley Forge Hybrid elm	2-2½" CAL.	8&8	\$	406.97	10	\$4,069.73
Ulmus 'New Harmony'	New Harmony Hybrid Elm	2-2½" CAL.	8&B	\$	406.97	10	\$4,069.73
Vibumum prunifolium	Blackhaw Viburnum	2 GAL	CONT.	\$	65.00	25	\$1,625.00
Viburnum prunifolium	Blackhaw Vibumum	3-4'	CONT.	\$	164.04	5	\$820.21
Vitex negundo	Chastetree	6'7'	8&8	\$	357.98	5	\$1,789.92
Total Bid Price Plant Materials					-		\$833,759.12